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True or False

The banana is heavier than the apple.

The orange is heavier than the grapes.

The mass of the grapes is 9 units.

The mass of banana is less than 5 units.

The banana is lighter than the grapes.

The apple is heavier than the grapes.

The mass of the apple is more than 4 units.

The mass of the orange is less than 6 units.

The grapes are the heaviest.

Use the balances and tell whether the statements below are true or false. 
Each has the same mass.
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Answers

The banana is heavier than the apple. True

The orange is heavier than the grapes. False

The mass of the grapes is 9 units. False

The mass of banana is less than 5 units. True

The banana is lighter than the grapes. True

The apple is heavier than the grapes. False

The mass of the apple is more than 4 units. False

The mass of the orange is less than 6 units. True

The grapes are the heaviest. True

Use the balances and tell whether the statements below are true or false. 
Each has the same mass.


